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Lecture: 06
Kodomotachi wa asonda kara benkyou uashimasu
FHE=S 13 WEATE D iR LET
Children will study after playing

Konnichiwa,”~ = /A2 5 /7@ and welcome to the class in the second lecture series on
Japanese 1Language and eCulture. So, in our last class we were doing fe.” T form,
which is equivalent to the continuous form in English the ‘ing’ form of English. So, we will
continue with this form and see how fe.” C@¥) form of the verb can be used in different

ways and can help us in conversation.

(Refer Slide Time: 00:47)

Watashi no uchi no mae ni kouen ga arimasu.
Watashi wa tokidoki kouen ni ikimasu. Kouen ni
takusan ki ga ariamsu. Kouen ni ike mo arimasu.
Ike ni sakana ga oyoide imasu. Ookii sakana mo

chiiisai sakana mo imasu

So, last time if you remember we had done this conversation. F)=So, you can see very

clearly over here that ga~"73guy is there. Now what does ga~"7's show? lke ni sakana ga
oyoide imasu W 1= 7% Pki Tl E 7@ something that is happening there
which you can see, which is a fact you can state with particle gz~ 7@ that is the easiest
way to remember how to use particle ga~"75. @¥)+Then we have 4 mo.~A ¥, @)you have
done this B mo.~B & @) and verb. So, ookii sakana mo.~ K&V %, ookii sakana,”
A& &7 also and chiisai sakana /N XV X737 also imasu. VO E T so,

this is what we had done.



(Refer Slide Time: 01:47)

Watashi no uchi no mae ni kouen ga arimasu.
Watashi wa mainichi kouen ni ikimasu. Kouen ni
takusan ki ga arimasu. Ki no shita de kodomo
tachi wa issho ni asobimasu. Watashi mo minna to

issho ni sunaba de asobimasu.

Kouen ni ike mo arimasu. Ike ni sakana ga oyoide

imasu. Ookii sakana mo chiisai sakana mo imasu.

Now listen to the dialogue very carefully and after that we will do the grammar. F)-
(Refer Slide Time: 02:43)

Ki no shita ni tsunaba ga atte kodomo tachi wa soko de
‘ asobimasu. Okaasan tachi wa soba kara kodomo tachi

0 mite imasu.

Kinou watashi wa tomodachi to isshoni kouen ni
ikimashita. Watashitachi wa hana o mite, ike no mae ni
w aru benchi ni suwatte, minna de o-bento o

tabemashita. Totemo tanoshikatta desu.

Now we are going to do this; ki no shita ni sunaba ga atte.” & @ F (2 F72/E 5

& o T, te form of the verb, kodomotachi wa soko de asonde imasu,” /=% |4 &
Z T B»HZAT U FE7EB. So, you just now heard in the conversation ki no shita ni
SR @ F I, niIZ and ga 73 is a pattern; place ni.~I1Z something or someone ga
imasu,” 73 VVFET or arimasu.” % Y E 7. So over here ga arimasu 7% H Y £ 7 inte
form, kodomo tachi wa soko de  TF{t/=6 & FZ T, place de./ T activity
asobimasu,” WECNFE T Okaasan tachi wa soba kara  FFREXA 726 |4 F1X 056,

from nearby, soba % /) patter—FB)-something-F)—in—play—form—F ) ptace—FH)-



aetivity=Se~@F) is near, nearby kodomo tachi o mite imasu,” 7H#t7=6 & FTIHET
&) they are watching. So, the ‘ing’ form is this form; which is that an activity is happening
now and it will happen for a little while longer, so, for short spans of time continuous tense.
Now I have also told you earlier that there are two types of continuous tense one an activity

that is happening and to a state that you are in.

So, we will do both of them again today; kinou watashi wa tomodachi to issho ni.~ HEH .

I+ KE L —F5IZ @) together with kouen ni ikimashita " NFE 12 TEFE L
7= @)-you can also say e~ a it is motion movement in a certain direction towards your
goal and with ni~/Z@J) you show that you are going there for a purpose or with the
purpose in mind. Watashi tachi wa hana o mite.” #.7= %5 % 76 % 4 T &) now are
in te,” CEI) form + ike no mae ni aru benchi ni suwatte,” 7, D Fi 12 HD5 N2
7 IZ  JE-S T, verb again in te form + minna de o-bento o tabemashita.” £ T 7
Mz ’NFE L last@F). So, you said two things over here first mite. 4 C, @) then
suwatte.”7 7> > CT@) and then finally you use this verb tabemasu.~ 7= F 7@H). So, in

one sentence you try to put in two verbs and then finally with this verb you have shown tense

and you have shown finally what you did.

So, basically the e Cthey form over here verb in te.” Cand-@F) plus, verb in te.” Cand-
FB) plus, verb over here. This te~ C@) basically is used to or helps in joining two verbs
like this and this and means ‘and’,: ¥in short we can say that it helps to give a lot of
information in a single sentence. So, now before doing this e They form I will quickly
revise fe imasu.” C ¥ 7@¥) form which is the continuous form which is what we just

learnt over here and then go on to doing this and something else as well.

(Refer Slide Time: 05:51)



B0 RO filc 2B A HYFES. WX LEEET 2EIC
TEFEY . 2 8IC <A XD HYFEI . 2B 12 0 £ H
UET, iz ad EKLTOHEST, XEL AL hEL AL
WET,

XD FIz 451F AboT Fi#ZFE X £2T #UFET,
BEAEL X £IE s Fi#E & RT0ET,

A il kE & —#Ic 28I LWEELiz, R
£ # RT. D D RF [C §HoT. HAWE T
BERY & BRFELL, ETH ELAHETY,

So, now we can say that the fe imasu~C ¥ 7@3¥) form expresses a continuous action

over a period of time.

(Refer Slide Time: 05:57)

A continuous action over a period of time.

Ima gohan o tabete imasu. _&_

4§ R & BRT L&Y, ®_ o

Shawa o abite imasu.

¥ & BUTVHEY,

Mariko san wa okaasan ni denwa o shite imasu. (c -
SSEA X BBSA 12 BEE LTWET, g_ #

As you just now saw time would be generally 10, 15, 20 minutes or maybe 30 minutes or
maybe an hour but not longer than that, basically an action over a short period of time. So,
this you did last time, ima gohan o tabete imasu.” > ZH{ Z XTI FEF I am
eating food which is not going to last for two hours or three hours. Then shawa- o abite
imasu.” > ¥ U — & BT FET,@) it is a short period and then Mariko san wa
okaasan ni denwa o shite imasu” F V) 1 3A 14 BRIA I &g & LT

V) F 7, @) she is talking to her mother.

(Refer Slide Time: 05:57)



State of being or living that state

Coam ) a
Tomodachi wa kekkon shite imasu. Y o W
RE T &1/ LTLET, ‘ (1

Watashi wa tsukarete imasu.

RE X &% FHoT LET,

Watashi wa kazoku to isshoni Tokyou ni sunde im suw

FhlE FiE & —#IC ER1 (T FATLWET,

Then, what else does it show? State of being or living that state basically meaning being in a
certain state. So, there are certain verbs you can use over here not all verbs will work. So, the
verbs are tomodachi wa kekkon shite imasu, X 14 #54F L TV F 7,@H) that they
are married and not that the ceremony is continuing. So, they are leaving that state, they are
in that state. Similarly for this one so, watashi wa tsukarete imasu.” #. 1%  D041T 1
F 71 am tired, I am in the state of being tired. Now over here also you will see watashi wa
kazoku to issho ni Toukyou ni sunde imasu”F 1% % & —FfIC FH I fF
Ao T FE @) Sunde imasu.” 11/ Tl F 7 is to live or living.

So, I am living in Tokyo. So, I am experiencing living in Tokyo. So, this is a state that you are
in.

(Refer Slide Time: 07:41)



Some activity that is done regularly.

Mainichi basu ni notte imasu yo.

#H8 N\R [T FOTLWFET &£

Mainichi asagohan ni pa@ tamago o tabete imasu.

#H 8@ TR (I Y L B T BRTLEY,

Now there is something else that you can do, which is some activity that is done regularly.
Now this is something new for you. For example, mainichi basu ni notte imasu yo.” 7 |1

NZ 2 ST FET S ~EFE) it means that @mainichi~ 77 H 1 ride a bus but
here the meaning would be, I take a bus every day that I travel by bus practically every day.
So, something that you do regularly something that is a habit a habitual action that is what

you show with the te imasu -~ C 1> F 7@ form.

Then also you have breakfast every day, mainichi asa gohan tabemasu yo ne minna san,” fi
H #Zfk RXEFT L J2 X A. Dakara sono toki, mainichi asa gohan ni pan
to tamago o tabete imasu,” /=026 €D L& mH BT 2 N> &P
Z BT FE 7, -@Fk) regularly as a habit I eat pan and tamago.” 7= & =, pan to tamago
N2 b J @) which is and.@H) and-1 am trying to repeat all that we have done
earlier for you to be comfortable; mainichi asa gohan ni pan to tamago o tabete imasu.~ 11 [
I 12 N> b & BT E T @) | eat every day.
(Refer Slide Time: 08:56)



Express present state with motion verbs \
—  ————

Tomodachi wa uchi ni kife imasu.

RE X 556 I T LWEY,

Shujin wa shigoto ni itte imasu.

FA F HF I ToTLET,

Then as we did last time it expresses present state with motion verbs. Now motion verbs are
ik V<, kuru. < 2@ and kaeru. 7> % 5@3) and with this you show movement in a
certain direction. So, how can you show a state, when the verb itself states that it is a motion
verb? So, let us see what it is. So, it expresses a present state over here that is what it has said.
So, tomodachi wa uchi ni kite imasu.” XZ |14 556 2 KTV FET, @)-they have
come home, so, basically saying that they are present at home. So, you will see that it also
shows existence at a certain point/existence at a certain place or location at a certain place,

location of a person.

Then we also have for example shujin wa shigoto ni itte imasu.” 1A & (LF |2

77> T % 7@k). So, in conversation you can say maybe you will understand better.
Goshujin irasshaimasu ka~ = FAN WEoLSIVET  0? Aa, sumimasen, shigoto ni
itte imasu.” &, THEEA, (FH | 775 Tl FE 7 @FB)does not mean that he is

still going or in the process of going, he is not in the process of going at the moment action is
not happening means that he is at office. So, his location is where, office. So, it shows place
also it shows present state also that where exactly are you or what you are doing. So, how to

use fe imasu.” T 1) F 7 the-image-form and show continuous action and how to use te imasu

T FE 7 the=@)-form and show that you are leaving a state you are in a state or at a

location.

(Refer Slide Time: 10:59)



pronde = €l qG.DILw /O}Q mode

e
Tarou wa sanjuppun mae made gohan o tabete imashita”
KEBBIZ =+481 T R % BNTLFELE,

Minasan, wa sanjuppun mae made shijot&ﬂeim_ashigl)
HEEA X =+581 FT HF £ LTLELE,

So, now let us see how it can be used in past tense as well. So, we have done made % T
@) as which is till we have done as ku-ji kara juu-ji made ~JLIF 736 |-IF  ET
@) till: Sso, he was eating. So, Tarou kun@y was eating food or gohan.~~ =A@ just
san-juppun mae made tabete imashita.” =2 Fi F T RTFE L /2@ in past
tense. Similarly they were working 30 minutes back in past tense please remember this.

(Refer Slide Time: 11:55)

kiite imasu/BL CLAET kiite imasen/BL T FEEA
kaette imasu/fg>TLVET kaette imasen/ig>TLVEHA
nonde imasu/fRA TLVET nonde imasen/fRATLEEA
haratte imasu/#>TL ET haratte imasen/#h>TL&FEEA
hashitte imasu/ZELTLFT hashitte imasen/ZE>TWEEA
tabete imasu/f=_RTLEF tabete imasen/BRTLFEEA
mite imasu/&TLNES mite imasen/ R TLWEEA

! oshiete imasu/BZ TLET oshiete imasen/BZ TLFEEA
tsukutte imasu/#EoTLVES tsukutte imasen/#foTLEEA

Now I had given this to you last time put it here again. So, that you can compare it with the
past form and the past negative as well.

(Refer Slide Time: 12:09)



Kodomotachi wa ima sunaba de asonde imasu. 1 /

F#E X 5§ 94EF T BATHET,

S
asonde imashita asonde imasu
WA TWELT WATNET

asonde imasen

WATOWERBATLE:

S

WATHNEEA

asonde imasen deshi(ﬁ

This we did last time and this time concentrate on this one asonde imashita.~ 7/ TV FE L
7=@) past tense positive and asonde imasen deshita.” 07/ Tl F A T L /@) past
negative. This was the sentence that we did kodomo tachi wa sunaba de asonde imasu.~ 7t
6 id FTRIT T HEATHETEH.

(Refer Slide Time: 12:30)

hashitte imashita/FE->TLVELT=

hashitte imasen deshita/ZE> T EH A TLI=
tabete imashita/ BT VELT-

tabete imasen deshita /B~NTULVEHATLI:

oshiete imashita/ZZ T &L=

oshiete imasen deshita /X TLVEBATL=

tsukutte imashita/E> T ELT=

tsukutte imashita deshita /fE>TLVEHATLT=

Now this is in past tense here hashitte imashita.~ |4 L - T U % L /=, hashitte imasen
deshita 13 L > T WFHA TL; tabete imashita” BT WF L/, tabete
imasen deshita,” 7=~ TV F A T L JZ; oshiete imashita.” 35 L 2 T UV F L7, oshiete
imasen deshita” B L 2 TWWEVA TLZ, tsukutte imashita,” 2< > T WFELF,
tsukutte imasen deshita”>< - T EH A T L7-@FE). So, you can practice this loudly



and get the correct intonation. Now another function of the fe.” C@) form is to show
action occurring in a sequence and what does that mean? We can interpret e~ @) form
as and as I told you joining verbs like particle r0 & @) joins nouns.

(Refer Slide Time: 13:11)

Vte + Vte + Verb — shows successive actions in the order
performed.

It helps to connect sentences and generally is equivalent to
‘and’ in English.
= <—"

It does not take tense and the tense is shown by the final
verb in the sentence.

‘Watashi wa kippu o katte densha ni norimashita/norimasu.)

flE o8 % BoT BHE [T OYFELE/OYET,
YIRS [L\,Hz« ow-pﬁ;j
2 Dewaba ni hAPwAsED

So, by doing this we can show more activity as we did in the first example. Like we can use
more verbs and convey more to our listener in a single sentence. So, let us see how it is done?
Verb in te.” @) form well it shows successive action in the order it is done or performed/-
it happens. It helps to connect sentences and generally is equivalent to ‘and’ in English. It
does not take tense please remember this is the most important thing, it does not take tense at

all. If you remember I told you earlier that verb in te.” C@&) form.

Actually has no meaning it is a hanging state. Till you add something to it, it will not convey
anything and the tense is shown by the final verb in the sentence as you saw just now in the
dialogue that kouen e itte. N7 -~ 17 T, ike o mawatte /7t % %> C, benchi
ni suwatte,” N7 |2 94> T, gohan o tabemashita.” ZHK & ZNFE L7-EFD.
So, finally where is the tense coming from, from tabemashita.~ 7=~ F L /-y that all this
we did and then finally we ate food. So, the final verb in the sentence gives the tense. We will
see this right away. Now you see over here watashi wa kippu o katte densha ni norimashita.”
oL i = HoT EHE I FOEL/EFE 1 bought my kippu LIFF
&) and then I boarded the train.



Now see how it is happening?: Watashi wa kippu o kaimasu.~#. (% GJfF z EHiFE
7 @) Sso, there is this one sentence, then watashi wa~ 7. /Z@) again you can have
and then densha ni norimasu.” @5 #. |2 F 1) & 7-@FH). So, two sentences in one I have
given you. So, what do we do watashi wa kippu o katte. ” %, 1% GI7F & Ho T,ER
one verb and then watashi wa@) can be removed again from here then densha ni norimasu
S (2 D E 9, @)1 buy a kippu - U)77@k) and then 1 bought the train. Now
this is a general statement. So, if I say watashi wa kippu o katte, densha ni norimasu.~ 4
(T Lir 2 Ho T, EH |2 FE D E 7@ means that is generally what I do?: ¥If
I say watashi wa kippu o katte densha ni norimashita, ¥ 1% 7 %2 H-oT &EHHE
(2 D F L/, @F~then one time I did this that I bought it and then I boarded the
train. So, please remember the difference between masu 5% 7 @k) and mashita. & L 7=

&) the meaning completely changes.
(Refer Slide Time: 15:59)

Vte+Vte .....

)
Watashi wa uchinikﬁ%&;u/ﬁli R~ RBYET,

Seshite, benkyou shimasu /ZLT ##ELFES, V. -
Sone-ato nemasu /E0 HE BFET .,

Watashi wa uchi ni kaette, benkyou o shite, nemasu. \
FE RIZ BoT. ##® % LT bFET, \

Now you have this picture of a person returning home, then something like studying and then
sleeping. So, what do we have? Watashi wa uchi ni kaerimasu . |4 9556 (2 J7 V0
% 7@¥E) one sentence; soshite benkyou shimasu. < L C #5% [ F 7@3) another
sentence; sono ato nemasu.” <=7 7% 423 7 @) another sentence. So, how do we make
one sentence out of this? Watashi wa uchi ni kaette, benkyou shite, nemasu.” % 1% 5
Iz Jdro T, BgE LT, BFE @) Watashi wa uchi ni kaette. ¥, 13 55

I Jit> T, te.” T form group 1, benkyou shite.” #)5# | T@) group 3 and then

My

y



nemasu.” 2 & 7 @k). So, the tense is coming from here this is what is written you can see
very clearly what it means. This is what I do all the time this is a statement and not something
that happened.

(Refer Slide Time: 16:59)

Watashi wa maiasa shawa o abimasu /FAIEBH +J% BUFY, '
Soshite, haha ni denwa shimasu /ZDdHE BIZ BIELFET . M 4! -
Sene-ato kaisha ni ikimasu /FhhD 23 WEFET, [ SO N

0. n)/”\:V'i '
Maiasa shawa o abite, haha ni denwa shite, uchi o demasu.

88 vJ % BUT.BIC EELT. R & HFEJ,

Again there is another example for you, let us see what it is? Watashi wa maiasa shawa- o

abimasu. Soshite haha ni denwa shimasu,” %, 1% ## >+ 7V— & bOOFET, <&
LT A+ I &&b L F 7@ second sentence; sono ato kaisha ni ikimasu,”~ & 7

#w Rt 12 {T7& F T Shawa o abite.” >+ UV — &  BHUT, @)group 2, haha ni
denwa shite.” £ 2 &ah L C@H) group 3, sono ato.” < B &, you can add sono
ato.” = B =@ let it be as is or you can remove kaisha ni ikimasu.” 7311 12 1T
& F 7@ ) group 14, this is what I do every day I take a shower, I call my mother and then I

go to office. So, after this activity I do this activity and then finally I go to office. Now let us

see what it is. Maiasa shawa- o abite, haha ni denwa shite, uchi o demasu,~ 5] >+
U— & BT, AF I #EiF LT K & MHFET, kaisha ni ikimasu ~XFt
(Z {7 & 7<) So, you can have this also and uchi o demasu. 5 & [1F 7 @)

means [ leave my house. So, I do these two activities and then I leave my house for wherever
I have to go.

(Refer Slide Time: 18:25)



" 3 =
d % ﬁ/
donde, > “
Mainichi shinbun o yomimagu. HE SHFET, ! =t <
Mainichi asa gohan o tabemasu. F B# h%E B ET. 1z —

S kaisha ni iki This #Ic 72F. |, %51 .
. s fa?
RA.M\»-&M R 0 W :

Mainichi shinbun o yonde, asa gohan o tabete, kaisha ni ikimasu.

#H ¥HE%Z HAT.HAIHR & BT . 8@ 7EF7.

Now there is another one for you this is just practice for you to understand te imasu.~ Tl F
7@ form and be able to use it in your sentences. So, we have shinbun.~ 7/, we
have somebody eating food and then somebody running to probably office. Mainichi shinbun
o yomimasu - H FlH & G4 E 7@ group 1, yonde i/ T.@E) then asa
gohan o tabemasu, ¥ THk Z& R-FT, asa gohan o tabete. H T & RNT
group 2, sono ato kaisha ni ikimasu,”? »H& 2t I 17& F 7648 so you can
see after first activity, second activity happens and then after the second activity, finally what

you want to do is right here. Now let us see what it is?: Mainichi shinbun o yonde, asagohan
o tabete, kaisha ni ikimasu 1t H i % AT, BTk = BT, DAt
I IrEET .6

So, different verbs you can use; different situations you can make and practice with your
partner. Mainichi nani o shimasu ka7 H fif Z L %7 2@ is the question you
can ask Mainichi nani o shimasu ka~#H o/ 2 L F7 27 Mainichi shinbun o
yonde, asagohan o tabete, kaisha ni ikimasu ##H il # FA T, #ZHK Z
T, &FfE |2 77Z % 7. @) and then you can describe the whole day or just this
activity.

(Refer Slide Time: 19:58)



Vte + kara

tp Q —
r{

Asonde (kara) shawa o abimasu.
WAT (D) >v0 & HUFET,

If we use particle kara.~ 7> 5 @) after tehe form of the verb, what does it convey? As you
know kara.~7)> 5 @F)-means ‘from’ and: Sso, it indicates the starting point. So here as well
it is indicating a source or a starting point. Now the source can be anything it could be a
person, it could be something else or it could be a reason with kara 77> 5@3). So, the only
thing that you have to keep in mind is that kara~"7)> ©@Fk) indicates that the first action has

to be completed for the second to take place.

(Refer Slide Time: 20:38)

action 1 (completed/over) fuss - action 2 + kara

Vte + Vte + kara

So, if you are using te. T form plus kara 7> 5, @) then the first action which comes
before kara~ 7> 5 @) has to be over for the second action to take place.
(Refer Slide Time: 20:51)



Vte + kara

Asonde (kara) shawa o abimasu.
WAT (D) %7 & HUFEY,

7/L l

L == A

6 - owr
& ety ;1" ’l‘ahet okaasan ni denwa shimasu.
1% 6 O axT(hn) BBEA < BELEY.

Now let us see how it is done. Over here you can see there are two activities happening one is
asobimasu,” UF N F 7@y and one is abimasu.” & (NE 7@H). So, asonde kara shawa- o
abimasu.” /AT b ¥ U— & BHUFE T@E). So, once I have played I am
over with my playing, then only I will take a shower. Shower is not happening before this
activity. So, once this is over then only something will happen. Now there is another one.

Tabete kara okaasan ni denwa shimasu,” BT 26 PBHIA I &if LFT.

&) So, only after I have finished this activity I am going to do this activity or you can say
that this activity that is activity 2 is going to happen only after the first one is over it has been

completed.

So, please remember with kara.~ 77> 5, @) always this action has to be over before you can
do what follows kara.~ 77> HCEFE).
(Refer Slide Time: 21:53)



Vte + kara

L—  —
AL ’n — |~ S -
Rao san wahawa o nhitmemasu.

SAEA & LDE Lebh & AUT Ho hET, >

Ashita shiken ga aru node kyou wa fukushuu shite\kara/nemasu.

BB RB # 55 0T 58 & WELT bo wFT], —
.
#boT Do BOFCES,

Benkyou owattekkam asobimashou. 1

There is more practice coming. So, @¥)Rao san wa itsumo shawa- o abite kara nemasu.~ 7
A 1 o h T U— & DT 06 EFET So, itsumo, VO D s
more-means ‘always’ I think we have done it earlier. Rao san wa itsumo.” 74 XA |3

VO 8, @) always shawa- abite kara ” >+ 7 — Z HOT 76,0k after taking a
shower always nemasu.~ 72 3 7@ he does not do any other activity except nemasu.~ 1z
F 7@Hk). So, for sleeping he has to take shower first this activity has to be over and then

only he will sleep he will not sleep and then this activity is going to happen. Now there are

some do's and don'ts also as happens in all languages.

So, well benkyou shite nemasu. 5% L T JZF 7@H. So, this activity is followed by
this activity. Now I have put kara 7> 5@¥E) in bracket over here and in all the other

examples as well. So, over here because it is not such a strong suggestion, it is not something

so, important it is not an order, it is not something that if you do not add kara_ 7> & @) the

sentence is not complete or the meaning is not conveyed. So, you can remove kara~ 7> 5

&Fb) also from here.

Still the meaning is the same Rao san wa itsumo shawa- o abite nemasu.” 7 4 &/ |4
ot vy U— & HINT EZF T .@B. So, after taking a shower he sleeps. Over
here you cannot remove kara 7> 5=@FE). Why you cannot remove kara 7> 5 ?(Fk)

bBecause the speaker's intention is very clear, he is determined to do something. He has told

himself he has decided that [ will do this and then only I will perform this second activity and



what is the reason? The reason is ashita shiken ga aru node.” Wi H LIif/A 75 &5

7> @) because there is an exam tomorrow kyou.~ 5 H,@) today, watashi wa fukushuu
shite kara nemasuF. (L S<Lw o LT 206 JZFEF. So, you are putting
importance over here by kara 7> 5 @)-and you are telling yourself that no I cannot sleep

before revising =

Sso, this is revision, fukushuu 5 < L & 5@ is revision. So, I have to revise before I
sleep, because it is important to the speaker it is his decision, he has told himself to do

something like this thus kara 7> 5@) is very, very important over here. In other cases
you may remove kara.~ 77> 5@ or may keep kara 7> 5 @k) with te.~ They form that is

the only difference that you have to keep in mind, that anytime there is some suggestion or
made by someone made by you something you have decided, you are determined to do

something or it is a command; then kara 7> 5@) is essential. For example look at this
one benkyou owatte kara asobimasu i #o> T 2256 FFOETEFE. So, only
when benkyou.~ #77#@¥) is over 1 will not play before that, only once it is over then I will
play benkyou owatte kara ~ #05% #4-> T 76 @) after finishing asobimasu, ~ V7N F
7). Remember this small difference in using and not using kara 7> & @FE).

(Refer Slide Time: 25:21)

action 1 (completed/over) then action 2 + kara

Vte + Vte + kara

The difference between and te kara.~"C 75 and verb, te + verb te form (FE)phas-verb-
they—form~is that te kara~ T 7>5@¥) indicates and focuses on order of events, as we

have seen just. Now that you do this and then you do this more on chronological order and



planning of events as you saw with not being able to remove kara~ 7> 5@ where you

decide something and you do it of choice. Whereas the e~ C@J) form that is the verb te +

verb te@E)phas—verb-F)—plus verb form only lists events, only tells you about events as
desired or as they have happened.

(Refer Slide Time: 25:58)

Vte + kara / Vta + kara

= gvf_if“/* .,
Buchou no denwa ga kite karajRao san ni denwa shimasu (C)o /a)
#ME O FEEHN KT Ho I5FEn 12 BFE LFET. 9

i, N
- E S e BEE R S Y @,‘_5 Sm“{w-o-r [vi\ o~ /fh]
Buchou no denwa ga kita kara ima denwa o shite im A\ Q/\_/{ k y

BE O BEN EL Hb & BE LTVEF.—

Nihon ni Nihongo o benkyou shimasu. '
BX I BAE # #ELEJS.
Nihon ni itta kara Nihongo o benkyou shimashita.

BAE T 7oz 5 BARFE & #slLEL=.
=T

Like in particle to.~” & @) which joins noun with nouns. So, now we can say that verb re.~
TEE) joins verbs in a similar manner like 70~ &~ @) joins nouns. Let us see the difference
between te kara. 20> 5@ and ta kara 7= 7> 5,6 one is in past and one is in fe
T form. So, let us see buchou no denwa ga kite kara, Rao san ni denwa shimasu,” 551

D iy Y KT 6, Z7AIA I &EaE L FETL So kite kara KT 2>
5@ only once his denwa ~ 7 77#FE) comes, then I will call Rao san.” 7 7= /FH).
So, the action is not happening now it is for the future something that you are going to do for

the future; something that you plan for the future as we said earlier something that you plan

that you do that, you decide.

So, buchou no denwa ga kite kara, Rao san ni denwa shimasu,” 55 @O  &ah 75 F
T b, 744 I b L FET. @aNow look at this sentence buchou no
denwa ga kite kara ~FifE @ ik 23 KT 25,6 now his phone has come,
buchou,” 7% @) wais your boss, buchou,” #5fZ  -is you whieh-was-the-head. So, buchou
no denwa ga kite kara “#5< @  HEah 25 KT 2>5,6M it has come, watashi wa
ima denwa shimasu.” 4 14 4 &E&F L E T or shite imasu.” L T F T or Rao



san ga ima denwa shite imasu” 73 XA 25 45 i L TWFET. Buchou no
denwa ga kite kara, Rao san wa /7= @ HiE 25 KT 6 FAIA 0 ldor
ga ima denwa shite imasu.” 7% 45 Bar L CTHOFET. @B With wa /% and ga 7%
different sentences are going to be made I have just written it together: Sso, please be very
careful about that. Buchou no denwa ga kite kara, Rao san ga ima denwa shite imasu,” 55 f%

D EEE N KT 6, ZAIA B 45 EaF LT WET Buchou no
denwa ga kite kara, Rao san wa ima denwa shite imasu,” #5Z @  &Eag 25 KT >
5, 74EA E 5 HEah LT 10 FET @ So, you can see this activity has

already happened this is over and now this activity is taking place. Nothing has happened

over here, no activity and this is for the future.

Once the phone comes then I will call. The phone has come thus I am calling now for this

one. Now you can understand this over here as well Nikon ni itte kara Nihongo o benkyou
shimasu,” HAK 12 1T>C 006 HAZ & ##E L F7 @&H. So, once I go to
Japan, then I will study Japanese and now over here Nihon ni itta kara Nihongo o benkyou
shimashita,” HAK 12 17-o72 06 HARGE 2 @ LF L=EH. So, it is all
for the past that I had gone to Japan thus I studied Japanese over there. So, in this case it is
for the future and this something has happened earlier. Remember with ze kara~C 75
and fa kara. 7= 7> 5@ the difference between the two I think it is very clear now.
(Refer Slide Time: 28:53)

Q nani?//\zux/ Rt Vbt
IPBtnr
Nanip shite imasu ka? il Z LTWET »7?
=
yomu / HE

i

shinbun o yonde imasu.

WE = JATVWET

Nani o shite imasu ka? fol % LTLZET H7?

(haha ni) denwa o shite imasu.

8 I B & LFT,




So, there was a word I had given over here nan.~ 72 A, nan.” 7% /A8 and nani. 7212,
@) what is the difference? Basically the meaning is the same ‘what’ but it has been seen that
nan.” 7% /A is generally used with numbers and nani 7% /Z@) with other things like
adjectives and verbs. Nani o shite imasu ka,” 7212 2 L C UET 2 shite imasu ka
LT W ET 0?2 So yomu Bl T8 here he is reading the paper. So, shinbun o
yonde imasu.” FlH  Z iAo T FE 7, @)-simple continuous tense. Now if he wants
to perform another activity after this then, shinbun o yonde kara ~#rl4 % FGiA T 7>
5 something o shimasu,” % L F 7. Nani o shite imasu ka”70(Z % LT WET

723? Again. Haha ni denwa o shite imasu”tF 12 &Eip & LT WET.6B)

again continuous tense calling my mother or talking to my mother.

(Refer Slide Time: 29:53)
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Now let us very quickly do some kanji’s as well. You have done this kanji taberu 782

@FB). So, I will give you the stroke order 1, 2, 3, 4, 5, 6,7, 8 and 9 taberu~ 7 -<5. So, the
stroke order is very clear, then there are some words with taberu 7~ 5@k). So, that you
can understand the kanji better tabemono .~ 7&~4), tabemono .~ & ~//@ k) means eatables.
So, mono.~ %) @ )-is like this one, two, three and then just a slight mistake over here 1, 2,
3,4,5,6,7 and 8 tabemono.” 7>~ E). So, this mono.~ ) @) can be used with other
words as well like nomimono,~ BX 44, wasuremono,” =414, kaimono.” B\ V@) and

we are going to do these words right away with the kanji.



So, this kanji is 9 strokes and means to eat and here you have nomu_ £ 7 @) which is very
similar to taberu 7~ 5@} you can see over here okay I will make it here 1,2, 3, 4, 5, 6,
7,8,9,10, 11 and 12. So, that is how it is made enel, 2, 3,4,5,6,7, 8,9, 10, 11 and 12 nomu
L 7@ which means to drink and again nomimono ~ F{#44-@FH). So, you have mono
Y again over here, nomi ~E{# and mono. ). @ )-and=-@F) Nomimono.” B4

once again very, very quickly- nomimono ~Ef %/ E).
(Refer Slide Time: 31:49)
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@"WJ Hd htD/wasuremono

Now we have another kanji kaimono .~ 5 U Z%#). So, we will do the kau) over here is
like this me /@) another me @) and then hito. A@). So, kau"H 9, so
kaimono.” H V ); mono.~ )@Y you already know, you know the kanjieeuntry have made
it a number of times already kaimono '\ "4),@k) then wasuremono .~ =4147. So, again
over here wasureru,” =71 5@ like this it does not start from here, it starts from here and
this is the sign of kokoro~/[>@I) which is heart only the lower part. So, kokoro /L) is
like this. So, wasure .57 1@ and mono_~ k) again mono like this and this kanji itself
is wasureru,” 541 5.

So, wasure =/ U@k) and over here you can write 71~ 5@ and wasureru. =415 and
wasuremono.” =414 okay 1 will make it once again wasureru. 541 25,- a=you have
kau~ H > @) over here and wasureru, =415 @) over here.

(Refer Slide Time: 33:09)



Vocabulary
Shiken LiFA exam
Renshuu hAaln>d practice
Fukushuu ALLwd revision
Kaisha =t office
Umai SFWL delicious
Kisetsu 3 cae] season
Kyouiku =3 31314 education
Shawa- ) — shower
Abiru HUB to take (shower)
Maiasa L every morning
Noru (X to get on

Now there is this vocabulary you can go over the vocabulary.

(Refer Slide Time: 33:11)

AmoBmo/At B
Vte + Vte + masu / VT+VT+ET
Vte + kara/ VT+H5
Vta + kara/ Viz+Hh5
Nan/Nani/ 2 A/7321Z
Kanji/ #F

Remember the words there are some new verbs and with this I would like to finish your class

over here I think lot of te.” (k) form we have done we have done the continuous te,” T
@) form which is te imasu.~ Tl >3 7. Then we have also done the te.” CT@) plus verb
te.” CE@) plus verb form which you have here in your lesson there is lot of practice for you.
Then we have also done the verb te kara.~C 7> 5@ form for that also you have lot of

practice and all the important things that you are supposed to remember.

There was nan.~ 72 /A/F¥) and nani~ 73 (@) also over here some little bit of kanji. So,

please do all of it and digest this today and come prepared for your next class soon. So, see



you then sono toki made arigatou gozaimasu, < L& FT HO1ESTXNE
9~ and mata aimashou,” ¥ 7= SV FE L L 5B,



